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INSTRUCTIONS TO CANDIDATES

Write your name, centre number and candidate
number in the boxes on the first page. Please write
clearly and in capital letters.

Use black ink. HB pencil may be used for graphs and
diagrams only.

Answer ALL the questions.

Read each question carefully. Make sure you know
what you have to do before starting your answer.

Your answers should be supported with appropriate
working. Marks may be given for a correct method
even if the answer is incorrect.

Write your answer to each question in the space
provided. Additional paper may be used if necessary
but you must clearly show your candidate number,
centre number and question number(s).

INFORMATION FOR CANDIDATES

The number of marks is given in brackets [ ] at the
end of each question or part question.

The total number of marks for this paper is 60.



FORMULAE SHEET: FOUNDATION TIER

Area of trapezium = %(a + b)h / h \




Answer ALL the questions.

1

The bar chart on the opposite page shows the number
of times that copies of one maths textbook were
borrowed from a group of libraries each year from
2001 to 2010.

(a) In which year was the book borrowed the MOST
and how many times was this?

(a) In and it was borrowed

times. [2]

(b) How many MORE times was it borrowed in 2008
than in 20047?

(b) [2]

(c) In 2011 it was borrowed 23 times.

Complete the chart on the opposite page by
drawing the bar for 2011. [1]
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2 The map below shows part of Surrey.

(a) Arun comes out of Bentley Copse campsite. This
is marked by point A on the map. He then drives to
the Post Office at Shere. This is marked by point P
on the map.

(i) In which compass direction does he drive?

(a)(i) [1]




(ii) The scale of the map is 2cm represents 1km.

About how far does Arun drive to the Post
Office?

(ii) km [2]

(b) In the Post Office, Arun posts a parcel at a cost of
£4.41 and he also buys 3 stamps at 58p each.

How much does he have to pay altogether?

(b) £ [2]

(c) The distance from Shere to Guildford is 8 km.

What is this distance in miles?

(c) miles [1]




(d) In 2011, the population of Guildford was 100 383.

(1) Write 100383 correct to the nearest hundred.

(d)(i) [1]

(ii) Write 100383 correct to one significant figure.

(ii) [1]
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3 Here are the first three patterns in a sequence.
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(a) Complete the following table by filling in the six
missing humbers.

Pattern number 1 2 3 4
Number of squares 3
Number of circles 12

10

[3]




(b) How many circles are there in Pattern 10?
Explain how you decide.

Pattern 10 has circles because

[2]

11



4 (a) Here are the integers from 25 to 30.

25 26 27 28 29 30

(i) Which of these numbers is divisible by 7?

(a)(i) [1]

(ii) Which of these numbers has 13 as a factor?

(ii) [1]

(iii) Which of these numbers is prime?

(iii) [1]

(b) Write down a multiple of 25 which is between 120
and 140.

(b) [1]

12



(c) Work out.

(i) 282 - 25 x 30

(c)(i) [1]

(i) 1-y25

(ii) [1]

13



5 The following table can be used to plan a walk along
the Norfolk Coast Path.
It shows the times it takes to walk between some
places along the path.

WALKING TIMES

Blakeney
1Th 01m Cley
3h 27m | 2h 26m |Weybourne
4h 38m | 3h 37m 1h11m |Sheringham
5h 53m | 4h 52m 2h 26m 1h15m |Roman Camp

(a) (i) It takes 4 hours 38 minutes to walk from
Blakeney to Sheringham.

How many minutes altogether are there in
4 hours 38 minutes?

(a)(i) minutes [1]

14



(ii) The distance from Blakeney to Sheringham
along the path is 11.6 miles.
It takes 4 hours 38 minutes to walk from
Blakeney to Sheringham.

How many minutes are you expected to take to
walk one mile on this path?

Give your answer correct to the nearest
minute.

(ii) minutes [2]

15



(b) Tim and Margaret start from Cley at 10 am.
They walk to Weybourne.
They stop at Weybourne to eat their packed lunch.
They then walk to Sheringham.

(i) The table below is incomplete and is headed
PLAN FOR THE DAY.
Use the walking times to help you complete
their plan for the day up to ‘Arrive in
Sheringham’. There are four missing items to
fill in.
Remember to allow them time for lunch.

PLAN FOR THE DAY

Leave Cley 10:00

Arrive in Weybourne

Leave Weybourne after a lunch

stop of minutes

Arrive in Sheringham

[4]

Catch bus in Sheringham

Arrive in Cley

16



(ii) Tim and Margaret use the Coasthopper bus to
return from Sheringham to Cley.

The timetable for buses after 2 pm is shown

below.
Sheringham | 1425 | 1455 | 1525 | 1555 | 1625 | 1655 | 1755
Weybourne | 1433 | 1503 | 1533 | 1603 | 1633 | 1703 | 1802
Salthouse | 1440 | 1510 | 1540 | 1610 | 1640 | 1710 | 1809
Cley 1446 | 1516 | 1546 | 1616 | 1646 | 1716 | 1814
Blakeney | 1449 | 1619 | 1549 | 1619 | 1649 | 1719 | 1817

Decide on a suitable bus for them to return to
Cley and complete the rest of the plan for the

day on the opposite page. [2]

17




6 (a) Write an expression for the total cost of 4
chocolate bars at ¢ pence each.

(a) pence [1]

(b) Simplify fully.

(i) 5ax3b

(b)(i) [1]

(i) 4a—2b+ a+5b

(ii) [2]

18



7 (a) Here is a list of ingredients for a Chocolate
Courgette Cake.

CHOCOLATE COURGETTE CAKE
(serves 4 people)

200g butter

3009 sugar

2 eggs

3609 plain flour

4 tablespoons cocoa
480 g grated courgettes

Debi wants to make a Chocolate Courgette Cake
to serve 6 people.

Complete the following list of ingredients she
needs.

CHOCOLATE COURGETTE CAKE
(serves 6 people)

_______ g butter
g sugar
_______eggs
g plain flour
tablespoons cocoa

g grated courgettes

[3]
19



(b) Debi compares four Chocolate Courgette Cake

recipes.

The MEAN amount of courgettes they need is
435¢.

Three of the recipes need 4509, 480g and 3409 of
courgettes.

What amount of courgettes does the fourth recipe
need?

(b) g [3]

20



8

In part (a) of this question use a pair of compasses
and a ruler.
Do not rub out your construction lines.

Triangle ABC has sides AB =11cm, BC =8.5cm and
AC =4.5cm.

(a) Construct triangle ABC.
The side AB has been drawn for you.

A 11cm B
[2]

(b) Measure angle B in the triangle.

(b) "[1]

(c) What type of angle is angle C in the triangle?
Circle the correct answer from the following list.

a right angle reflex = acute  obtuse [1]

21



9 Maja and Charlie are playing a ‘think of a number’
game.

(a) Maja says:
I think of a number.
I add 4.
I multiply the result by 6.
The answer is 72.

Find the number that Maja thought of.

(a) [2]

22



(b) Charlie says:

(i)

(ii)

I think of a number.

I multiply it by 6.

I add 4 to the result.

The answer is 39 more than the number I
first thought of.

Let n be the number that Charlie first thought
of.

Complete the following equation for Charlie’s
number game.

=n+ 39 [1]

Solve the equation to find the number that
Charlie first thought of.

(b)(ii) [3]

23



10 Four people stand in an election to represent their
class.
Here are the number of votes they each obtain.

Name Number of votes
Jessie 5
Anton 10
Vivek 8
Silpa 7
Total 30

24



Use the circle below to construct and label an
accurate pie chart to represent these results. [3]

25



Catherine is designing a new kitchen.

She wants to find out whether the walls meet at an
angle of 90°.

She measures two walls and a diagonal across the
kitchen floor.

The following diagram of the floor shows her
measurements.

A 466 cm

NOTTO

324cm _572¢cm SCALE

(a) Use the wall measurements to calculate what the
length of the diagonal should be if angle A = 90°.

(a) cm [3]

26



(b) Use your result for the length of the diagonal to
decide whether angle A is equal to 90°, less than
90° or more than 90°. Show how you decide.

Angle A is 90° because

[1]

END OF QUESTION PAPER

27



OCR¥

RECOGNISING ACHIEVEMENT

Copyright Information

OCR is committed to seeking permission to reproduce all third-party content
that it uses in its assessment materials. OCR has attempted to identify and
contact all copyright holders whose work is used in this paper. To avoid the
issue of disclosure of answer-related information to candidates, all copyright
acknowledgements are reproduced in the OCR Copyright Acknowledgements
Booklet. This is produced for each series of examinations and is freely
available to download from our public website (www.ocr.org.uk) after the live
examination series.

If OCR has unwittingly failed to correctly acknowledge or clear any
third-party content in this assessment material, OCR will be happy to correct
its mistake at the earliest possible opportunity.

For queries or further information please contact the Copyright Team, First
Floor, 9 Hills Road, Cambridge CB2 1GE.

OCR is part of the Cambridge Assessment Group; Cambridge Assessment
is the brand name of University of Cambridge Local Examinations Syndicate
(UCLES), which is itself a department of the University of Cambridge.

2805316738 %* 28





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 15%)
  /CalRGBProfile (ColorMatch RGB)
  /CalCMYKProfile (U.S. Sheetfed Uncoated v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.3
  /CompressObjects /Off
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams true
  /MaxSubsetPct 100
  /Optimize false
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts false
  /TransferFunctionInfo /Preserve
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile (None)
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 600
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects true
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /CreateJDFFile false
  /Description <<
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308030d730ea30d730ec30b9537052377528306e00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /FRA <>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /ENU <>
  >>
>> setdistillerparams
<<
  /HWResolution [600 600]
  /PageSize [595.245 841.846]
>> setpagedevice


